il
W
St
%
I

1. TE4
TH4 L) || LB A Hh (R S At 7 T
THEHA 8 o W A B8 K T P AL DA A o
2. THEHNE
1)  HEI4 FERINNEESFT THE—3
2) &£ T f ) T2
3) T i 241 H ¥ H SF0 T TH22H
= SFn 84 3H19H
4) TEyE

ELAma  JuN TR )R




Vvl = =]
FEENRE s
T4 | BRI DB A X e T
TEHEX Sy - THE - R B {7 % & A bl A iR
FLLt - =X 76,915, 161
LT = 7,907, 175
HRHEI T = 2,598,451 |#EH! 210 m3
(FEFHEED)
THp A7 iy L EEME 5, 000m3LL 10,
000m3 AT ;
A 2,300 m3
Twp A7 iy HE EEM 5, 000m38L 10,
000m3 AT ;
T wb AT 1 2V
0 Cabl- EHIRY £5Te) ;
e 1 =
B (O-27)
T 2V 2,581, 110 | B&MAR (FL8E) RS+ 2, 400 m3
4. 0mPL E
PR (Bite) R+ 20 m3
2. 5mPL 4. OmATi ;
PR (Bite) R+ 330 m3
2. 5mATH
Rkt A = 1,707,640 |{EmEIEE (G)LE0) 700 m2
BRI v+ R OWYE + kit
LRI (3% 1350) 2,480 m2
T i S O I BRI
P v T = 1,019,974 | bS5 ENR 1 2V
0 Cadl- EHIRY £5Te) ;
¥ LWLy 1 X
LR L 2 42, 558, 357
EELT X 2,903,907 |FEHR Y (mHE) 1 X
+4)
HEL 1 X
MR L 1 =
-1- E A2 s SN 7




Vv = =
FEENRE s
T4 | BRI DB A X e T
TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
HmEEE 1 =X
/) =47 my ) T (577 vy /5R) = 1 30,212, 230 | BT Eemsav ) -} 191 m
(A)
18-8-40 (75 47) JEIE 55¢cm & 50cm ;
EIRSIVARPYE = 1,170 m2
150kg/{EAT 122 350mm VEHEH7 FAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;
H Hi 45 m2
TR AHERT B M t=10 ;
Bl HT Rbiav - 194 m
18-8-40 (&)
H#RT R L 2 1 320, 150 | BLGHTAA (F@EE) 270 - 2 ST
(R2-1)
& 300mm ;
B TR (FRRE) 207 -b 2 (£
(R3)
& 300mm ;
BUEFT/ A 1kay)) -} 1 E10
(R3)
& 300mm ;
fiA T 2 1 8,213,620 |2 4,630 m2
R T 500m2LA E
BT 2 1 32,830 |&+ 140 m3
PEE: T 2 1 875,620 | BAILFTREEY 2 &0
0 ck=18N/mm2 ;
KEE T 2 1 11, 928, 398
e+ T 2 1 858,486 |FRIEY 1 X
+4)
HEL 1 X
HEL 1 X
J O 1 =

-2 - E ta2@d Ui




Vv = =
E R s
T4 | BRI DB A X e T
TEHEX Sy - THE - R B {7 % & A bl iR
BT AT S 9,181,072 | BLHHT/KHE 47 m
600X 600 18-8-25 (FE1F) ;
Bl FTK I 43 m
600X 660 18-8-25 (FE1F) ;
Bl FTK I 41 m
600 X 660~760 18-8-25 () ;
Bl FTK I 50 m
600X 1090~990 18-8-25 (&4F) ;
BTG 2= 22 m
400X 100 24-12-25(20) (FE%F) ;
BTG 2= 65 m
900X 170 24-12-25(20) (FE¥F) ;
(=N 1 BT
(15)
1260 X 1710 X 300  18-8-40 (& ¥F) ;
BBz 7))} 1 fEipT
2%5)
1260 X 1110 X300 18-8-40 (& JF) ;
7 VR AN = T = 1,053,180 |7 VEyAbE vJ4 8 m
HIE 0.6m P& 0.6m ;
7" VEPAME 9 A 6 m
HlE Im N&E Im ;
T = 420, 160 | 7" VAR MU 52 m
300X 300X 2000 ;
AT X 415,500 | BT HAEAME 2 &R
1000 X 1000 X 1000 18-8-25 (;&%F) ;
BGHT K 1 (£
1000 X 1500 X 900 18-8-25 (& 47) ;
R T = 3,299, 976
73770 N T = 1,982,164 | FJE#AR (H3E - BIE ) 744 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 744 m2

BRI E T A2y (20) EHFEE 50mm 1. 4mPh 13

TAZIEE LN )R




&=

il
W
>
%
I

TH4 | B DUS X ei  T

ﬂlj“

LKy - LA - FER WAL ¥ =& & il il 2

.OmELF

27)-hhAE T v 1 328,920 | Tl (Hi - B5IH D) 103 m2
FEITyYr77 RC-40 A VW E 100mm ;

EVVURINE 103 m2
18-8-25 (& 47) t=10cm ;

ST HERE 1T (F 154 AL A 1 423,292 | /|NELERE 2 m3
(A-1)
0.8mPh 1. omPA T 18-8-40 (k) ;

/N RE 0.6 m3
(A-2)
0.8mPh 1. omPA T 18-8-40 (k) ;

=V 1 (&P
(1%5)
ME500mm  18-8-40 (FE¥F) ;

=V 1 (&P
2%5)
ME500mm  18-8-40 (FE¥F) ;

7" VA MAERE T = 1 565, 600 |7 V¥yAlERE 10 m
(H=2. Om)

M& 150 cm 1.0m%## 22, 0mLA F 18-8-25(20) (

=)

HEYE T Y 1 4,115, 868

e+ T 2 1 174,250 |FRYE Y 1 X
+4)

HWERL 1 =

R L 1 X

M BE L T = 1 2,763,200 |2v7)-MEw BUE L 198 m3
MRS BhkE T

/) ) -MEEEBUE L 0.7 m3
ERApIEEY) FAAE T ;

EhAE AR AR 1,010 m2
JAT 7 RR SR 4 cm

-4 - E ta2@d Ui




=+ /A = e
FER N E s
TH4 | B DR X e T
TEHX4y « Tfd - FER B Az £ & F #m il BN
TE LB T =Y 1,178,418 | %iEHk 198 m3
/)Y - hik (AT
IR 0.7 m3
/) -hk (BRAD)
Stk 41 m3
TAT7IV NS
RISy 198 m3
/)Y - hik (AT
RISy 0.7 m3
/) -hk (BRAD)
RISy 41 m3
TAT7IV NS
A Y 7,105, 387
R ) T X 6,870,667 | 05 ! &
GrE) (R t+o )
Mt R *HIE (14F)
+m 5 1 =X
() (KRE+o )
A ERE E T = 234,720 | AZiERHEE B 1 =
[ERAE Xy = 76,915, 161
B R = 6,917, 000
BISTI S = 787, 000
BGRESCGES (5 1) = 787, 000
B (FEHL) = 6, 130, 000
T = 83, 832, 161
-5 - E+A8m SN T S




FH

LAy

%
I

&=

TH4 | B DUS X ei  T

THEXSy - THE - FE5 H7 & & # i Gl N
e R E20 1 23, 288, 000
T AT 2V 1 107, 120, 161
— e PR E20 1 18, 189, 839
N E20 1 125, 310, 000

TAZIEE LN )R




